Ophangning af breendeovnen pa veeg m
Mounting the stove on a wall m
Aufhdangung des Kaminofens an der Wand m
Henge peisovnen pa veggen m
Upphdngning av braskaminen pa vdgg
Collocazione della stufa a parete

Plaatsing van houtkachel aan wand

Suspension du poéle sur paroi m
Suspension de la estufa en la pared m

12.06.2019/53-7026
www.hwam.com

HuUUJamM

intelligent heat









WWQE "UIW

14%%

8¢




185,4

147.,5

92,7

/3,7

0

-
>

L
80

n
jV

386

509.3

604

676,2

50
20

U

A

[0 2

50




OPHANGNING AF BRANDEOVNEN PA VAG

DANsk

Vagbeslaget (1) placeres pa vaggen i den valgte hgjde. Der skal vare en minimumsafstand pa 3 cm fra

gulvet til bunden af det ophangte vegbeslag.

De 8 huller (2) i vegbeslaget markeres pa vaeggen, hullerne bores. Det anbefales at bruge stél rawplugs.
Ved regrerstilslutning bagud markes det store hul (3) i veegbeslaget op og hullet bores ud.Vaegbeslaget
skrues fast pa vaggen. Det er meget vigtigt, at beslaget er fuldstaendig i vater.Ved regreorstilslutning bagud
fiernes deaekpladen (4).

Brak de 2 ovale plader (5) bag pa brendeovnen af. Braendeovnen laftes op pa vagbeslagets to kroge (6).
Det er vigtigt, at breendeovnen falder helt ned i krogene, da dette fikserer breendeovnen. Derefter kan
de to medfalgende 6 mm bolte (8) monteres, én i hver side pa breendeovnens bundplade (7). Dette laser
braendeovnen fast til vegbeslaget. Bolten ma ikke blive spandt for hardt, da metallet skal have mulighed

for at udvide sig ved den normale varmepavirkning, som sker under brug af braendeovnen.

Byggemateriale |Producent | Type og betegnelse

Beton, Hilti HUS-H 10,5 x 55 ~

massive mursten Expandet MMS-S 7,5 x 50 .

eller hulsten Fischer FBS 8/5 US

Porebeton Expandet LB metal M10 porebetonanker m
Fischer FTP M 10 + saetskrue M10 x 25 mm stal

Der er i de ovennavnte storrelser ikke taget hgjde for puds pa vaeggen. Derfor skal ankerets nytte-

lengde @ges med minimum pudstykkelsen.

Vigtigt! Vaegbeslaget ma ikke skrues fast i en fuge.




MOUNTING THE STOVE ON A WALL ENGLISH

Place the wall bracket (1) on the wall at the desired height.Allow for a 3 cm distance as a minimum from
the floor to the bottom of the mounted wall bracket.

Mark the 8 holes (2) in the wall bracket on the wall and drill the holes. It is recommended to use raw
plugs of steel. If the flue duct is connected to a rear smoke outlet, mark the large hole (3) in the wall
bracket,and drill the hole.Secure the wall bracket to the wall with screws. It is very important to ensure
that the bracket is completely level. If the flue duct is connected to a rear smoke outlet, remove the
cover plate (4).

Break off the two oval plates (5) at the back of the stove. Lift the stove up onto the two hooks on the
wall fitting (6). For proper fitting, make sure that the stove rests securely in the hooks.Then attach the
two accompanying 6 mm bolts (8), one at each side of the stove bottom plate (7). This locks the stove
into the wall fitting. Do not overtighten the bolts, as the metal should be able to expand with the heat
generated by normal use of the stove.

Building material | Producer | Type and designation

Concrete, Hilti HUS-H 10,5 x 55

solid brick or Expandet |MMS-S 7,5 x 50

hollow brick Fischer FBS 8/5 US

Air-entrained Expandet |LB metal M0 air-entrained concrete anchor
concrete Fischer FTP M 10 + set screw M10 x 25 mm steel

The wall’s plaster work is not accounted for in the sizes listed above. The anchor’s effective length must
therefore be increased by at least the minimum thickness of the plaster work.

Important! The wall fitting may not be screwed into brick joints.



AUFHANGUNG DES KAMINOFENS AN DER VWAND DEuTscH

Der Wandbeschlag (1) wird in der gewidhlten Hohe an die Wand gehalten. Zwischen FuBboden und
Boden des aufgehiangten VWandbeschlags miissen mindestens 3 cm Abstand sein.

Die 8 Lécher (2) im Wandbeschlag werden an der Wand markiert und es werden Locher gebohrt. Wir
empfehlen, dass Diibel aus Stahl verwendet werden. Bei einem Rauchrohranschluss nach hinten wird das
groBe Loch (3) im Wandbeschlag markiert und es wird ein Loch gebohrt. Der Wandbeschlag wird an der
Wand festgeschraubt. Es ist duBerst wichtig, dass sich der Beschlag vollig in der VWaagerechten befindet.
Bei einem Rauchrohranschluss nach hinten wird die Deckplatte (4) entfernt.

Die 2 ovalen Platten (5) hinten am Kaminofen werden ausgebrochen. Der Ofen wird in die beiden Haken
(6) der Wandhalterung eingehingt. Damit er korrekt sitzt, ist darauf zu achten, dass er bis zum Anschlag
hinabgleitet. AnschlieBend kénnen die beiden mitgelieferten 6 mm Schraubenbolzen (8) montiert wer-
den, eine an jeder Seite der Bodenplatte des Kaminofens (7). Damit wird der Kaminofen fest mit dem
Wandbeschlag verbunden. Die Bolzen diirfen nicht zu fest angezogen werden, da sich das Metall bei der
normalen Wiarmeeinwirkung, die wahrend der Benutzung des Kaminofens entsteht, ausweiten kénnen
muss.

Baumaterial Produzent | Typ und Bezeichnung
Beton, massiver Hilti HUS-H 10,5 x 55
Backstein oder Expandet MMS-S 7,5 x 50
Hohlblockstein Fischer FBS 8/5 US

Expandet LB Metal M0 Porenbetonanker

Porenbeton . FTP M 10 + Schraubensatz M10 x 25 mm
Fischer Stahl

In den oben erwihnten GréBen wurde der Putz am Wand nicht mit einkalkuliert. Deshalb muss die
Nutzlinge des Ankers mit minimum die Dicke des Putzes verlangert werden.

Wichtig! Der Wandbeschlag darf nicht in einer Fuge festgeschraubt werden.



HENGE PEISOVNEN PA VEGGEN Norsk

Plasser veggbeslaget (1) pa veggen i ansket hgyde. Det skal vaere en minimumsavstand pa 3 cm fra gulvet
til bunnen av det opphengte veggbeslaget.

Marker de 8 hullene (2) i veggbeslaget pa veggen og bor hullene.Vi anbefaler bruk av rawplugs i stal.
Ved tilslutning til reykrer bak merker du opp det store hullet (3) i veggbeslaget og borer det ut. Skru
veggbeslaget fast i veggen. Det er svart viktig at beslaget er fullstendig i vater.Ved tilslutning til reykror
bak skal du fierne dekkplaten (4).

Brekk lgs de to ovale platene (5) pa baksiden av ovnen og fijern dem. Peisovnen laftes opp pa veggbe-
slagets to kroker (6). Det er viktig at peisovnen faller helt ned i krokene da dette fikserer peisovnen.
Deretter kan de to medfalgende 6 mm boltene (8) monteres, én pa hver side av peisovnens bunnplate
(7). Dette laser peisovnen fast til veggbeslaget. Bolten ma ikke strammes for hardt, ettersom metallet ma
kunne utvide seg ved den normale varmeutviklingen som oppstar nar peisovnen er i bruk.

Byggemateriale | Produsent | Type og betegnelse

Betong, Hilti HUS-H 10,5 x 55

massive murstein | Expandet MMS-S 7,5 x 50

eller hulstein Fischer FBS 8/5 US

Porebetong Expandet LB metall M10 porebetonganker m
Fischer FTP M 10 + settskrue M10 x 25 mm stal

Det er i de ovennevnte storrelsene ikke tatt hgyde for puss pa veggen. Derfor skal ankerets nyttelengde
okes med minimum pusstykkelsen.

Viktig! Veggbeslaget ma ikke skrus fast i en fuge.



UPPHANGNING AV BRASKAMINEN PA VAGG

SVENSK

Placera viggbeslaget (1) i vald hojd pa viggen. Det maste finnas ett avstind pa minst 3 cm fran golvet till
det upphingda viggbeslagets undersida.

Markera viggbeslagets atta hal (2) pa viggen. Borra halen.Vi rekommenderar att du anviander stalplugg.
Vid rokrorsanslutning bakat ska du markera det stora halet (3) i viggbeslaget och borra halet. Skruva
fast viggbeslaget pa viggen. Det dr viktigt att beslaget monteras absolut vagritt.Vid rékrérsanslutning

bakat ska du ta bort tickplaten (4).

Bryt av de tva ovala skivorna (5) pa braskaminens baksida. Lyft upp braskaminen pa viggbeslagets tva
krokar (6). Det ar viktigt att den hakar fast helt pa krokarna, eftersom de héller braskaminen pa plats.
Skruva direfter i de tvd medfdljande 6 mm-bultarna (8), en i vardera sidan av braskaminens bottenplat
(7). De laser fast braskaminen i viggbeslaget. Dra inte it bultarna for hart, eftersom metallen maste
kunna utvidga sig vid den virmeutveckling som uppstar nar braskaminen anvénds.

Byggmaterial Fabrikant | Typ och beteckning
Betong, Hilti HUS-H 10,5 x 55 -
massiv mursten Expandet MMS-S 7,5 x 50 -\‘\"\“\.\-'h;‘
eller halsten Fischer FBS 8/5 US
Expandet LB metall M10 porbetong plugg m
Porbet
orpetong Fischer FTP M 10 + Bult M10 x 25 mm stal

Det ér i ovannamnda storlekar har det inte tagits hansyns till puts pa vaggen. Darfor ska pluggens langd

6kas med minimum putstjockleken.

Observera! Viggbeslaget far inte skruvas fast i en murfog.




COLLOCAZIONE DELLA STUFA A PARETE [TALIANO

Applicare la staffa per il montaggio a parete (1) all’altezza desiderata. Lasciare una distanza di almeno 3
cm fra il pavimento e la parte inferiore della staffa.

Forare la parete in corrispondenza dei 8 fori (2) presenti sulla staffa. Si raccomanda di utilizzare i fischer
di acciaio. Praticare un foro sulla parete in corrispondenza del foro pit grande (3) sulla staffa, presso il
raccordo del tubo di uscita fumi.Avvitare saldamente la staffa alla parete. E molto importante applicare la
staffa in posizione perfettamente orizzontale servendosi di una livella. Rimuovere il pannello di copertura
(4) in corrispondenza del raccordo del tubo di uscita fumi sul retro.

Rimuovere i due pannelli ovali (5) sul retro della stufa. Sollevare la stufa agganciandola ai due ganci per
il montaggio a parete (6). E importante agganciare correttamente la stufa poiché i ganci la sostengono.
Quindi avvitare i due bulloni da 6 mm (8) in dotazione, uno su ciascun lato del pannello inferiore (7). In
tal modo la stufa viene fissata alla staffa. Non serrare eccessivamente il bullone in quanto il metallo deve
avere la possibilita di dilatarsi per effetto del calore emanato dalla stufa durante I'uso.

Materiale Fabriccante | Tipo e denominazione

Calcestruzzo, Hilti HUS-H 10,5 x 55

mattoni massicci | Expandet | MMS-S 7,5 x 50 ;
o traforati Fischer FBS 8/5 US

Calcestruzzo Expandet Ancoraggi M10 per calcestruzzo poroso

poroso in metallo LB m
Fischer FTP M 10 + vite di pressione

MI10 x 25 mm acciaio

Le dimensioni sopra indicate non tengono conto dell'intonaco. Pertanto alla lunghezza utile dell’ancorag-
gio dovra aggiungere uno spessore minimo per l'intonaco.

Attenzione! La staffa a parete non deve essere applicata nelle fughe.



PLAATSING VAN HOUTKACHEL AAN WAND NEDERLANDS

Plaats het wandbeslag (1) op de gewenste hoogte op de wand.
De minimale afstand tussen de vloer en de onderkant van het opgehangen wandbeslag is 3 cm.

Markeer de 8 gaten (2) in het wandbeslag op de wand en boor de gaten. Het is aangewezen stalen
rawpluggen te gebruiken. Markeer bij de aansluiting van de rookafvoerpijp aan de achterkant het grote
gat (3) in het wandbeslag en boor het gat. Schroef het wandbeslag vast op de wand. Het is van groot
belang dat het beslag volledig waterpas wordt gemonteerd.Verwijder de dekplaat (4) bij de aansluiting
van de rookafvoerpijp aan de achterkant.

Breek de 2 ovale platen (5) aan de achterkant van de kachel af.Til de kachel op de twee haken (6) van
het wandbeslag. Het is belangrijk dat de kachel volledig in de haken valt, aangezien de kachel op die
manier wordt gefixeerd.

Vervolgens kunnen de twee bijgeleverde bouten (8) worden bevestigd, aan elke kant van de bodemplaat
(7) van de kachel één. Op die manier wordt de kachel aan het wandbeslag vastgezet. Draai de bouten
niet te strak aan,omdat het metaal moet kunnen uitzetten wanneer het tijdens het gebruik van de kachel
warm wordt.

Bouwmateriaal | Producent | Type en omschrijving

Beton, Hilti HUS-H 10,5 x 55 mm

massieve baksteen | Expandet | MMS-S 7,5 x 50
of holle steen Fischer FBS 8/5 US

Gasbeton Expandet LB, metalen M|0-gasbetonanker m
Fischer FTP MI0 + bout M10 x 25 mm, staal

Er is bij de bovengenoemde maten geen rekening gehouden met eventueel pleisterwerk. Daarom moet

de nuttige lengte van het anker worden verhoogd met de minimale dikte van het pleisterwerk.

Belangrijk! Het wandbeslag mag niet in een voeg worden geschroefd.



SUSPENSION DU POELE SUR PAROI FRANGAIS

Placez I'attache murale (1) a la hauteur voulue. Il faut prévoir une distance minimum de 3 cm entre le sol
et le bas de I'attache murale mise en place.

Marquerz I'emplacement des 8 orifices (2) de I'attache sur la paroi. Percezr les trous. Il est recommandé
d'utiliser des chevilles métalliques ‘rawplug’. En cas d’échappement d’évacuation des fumées sur l'arriére,
marquerz le grand orifice (3) du support mural et percerz le trou.Visserz 'attache a la paroi. Il est trés
important que 'attache soit parfaitement a niveau. En cas d’échappement d’évacuation des fumées sur
I'arriére, retirerz la plaque de protection (4).

Brisez les deux plaques ovales (5) a I'arriére du poéle. Souleverz le poéle et I'accrocher sur les 2 cro-
chets de I'attache (6). Il est important que de bien caler le poéle se cale bien dans les crochets puisqu’ils
servent a fixer le poéle. Mettre Mettez ensuite les 2 boulons fournis de 6 mm (8), un de chaque c6té sur
la plaque de fond du poéle (7). Le poéle est alors bloqué sur 'attache. Ne pas trop serrer les boulons. Le
matériau doit pouvoir se détendre sous 'effet normal de la chaleur lors de I'utilisation du poéle.

Matériau de construction | Producteur | Type et désignation
Béton, Hilti HUS-H 10,5 x 55 m_,_m
brique pleine Expandet MMS-S 7,5 x 50 ———
ou creuse Fischer FBS 8/5 US

Béton poreux Expandet LB métal M10 ancre en

béton poreux m
Fischer FTP M 10 + vis sans téte

MI10 x 25 mm acier

Les dimensions indiquées ci-dessus ne tiennent pas compte du crépi sur le mur. La longueur utile de
I'ancre doit donc étre augmentée au minimum de 'épaisseur du crépi.

Important! Ne pas visser la ferrure dans un joint.



SUSPENSION DE LA ESTUFA EN LA PARED EspARiOL

Colocar el soporte de pared (1) a la altura deseada. Entre la parte inferior del soporte y el suelo debe
haber una distancia minima de 3 cm.

Marcar en la pared el lugar en el que se perforarin los 8 orificios (2). Recomendamos utilizar tacos
de acero. Si existe una conexion trasera para la extraccion de humos, marcar el orificio grande (3) del
soporte de pared y taladrarlo.Atornillar el soporte en la pared. Es muy importante que el soporte esté
perfectamente nivelado. Si existe una conexién trasera para la extracciéon de humos, retirar la placa de
cubierta (4).

Romper las dos placas ovaladas (5) de detras de la estufa. Levantar la estufa sobre los dos ganchos (6)
del soporte de pared. Es importante que la estufa encaje completamente en los ganchos para fijarla. A
continuacién, montar los dos pernos de 6 mm (8) provistos, uno a cada lado de la placa de asiento (7)
de la estufa.Asi se fija la estufa al soporte de pared. No apretar demasiado el perno. El metal debe poder
dilatarse en las condiciones de calor normales que se dan en el uso de la estufa.

Material Fabricante | Tipo y descripcién

Cemento, ladrillo | Hilti HUS-H 10,5 x 55

macizo o ladrillo Expandet MMS-S 7,5 x 50

hueco Fischer FBS 8/5 US

Hormigon aireado Expandet Metal LB ancla de hormigén aireado M10
Fischer FTP M 10 + tornillo de bloqueo de acero

En las dimensiones indicadas arriba no se ha tenido en cuenta la escayola de la pared. Por ello, a la lon-
gitud util del ancla debe afiadirse el grosor minimo de la escayola.

ilmportante! No atornillar el soporte de pared en una junta.






HuUUam

www.hwam.com



